N2 v | wmind 2 | Ry 90D

=iy ol i b 88

B == OPN N == B

o7 MY AR PAX 99> o0 MY

TIORT DRI 9B TTY TVRD TX

TUND T¥N V1Y 070 12 nPRYY TRIY

pY X2 M1 Yyt %% ovm 10 X
J12wn3

RPN 2072m NP 91 07 ,IRKD BNY
DIW» ,0%2 M3 17292 fO¥ R

NP M TRRY I LPUTY R
MNP PR3 My TRYD AT 1971,0720
ODR (0% (x wx13) 2INDY ,0°0 n'?;zg
TR Y TRO? DWW PRI 00K

DWW WU 2w apinn 19 11RYS
% R L0 WYY ARD 0RDIY oY
3 DY YY) DYIIY XD D2pRIY
DWW vaY 0WYY on om ,3py:
TR TIT? ITRUAY DWW 0yAY 1T
222 T opn3 opd 0u3 ORIy
IR 97 IPRUIY 02300 aniR

2 TRUD XY POy n? nRR BN
,TUN XITW DWW 270980 019

YN XA M JWNT TED XY T
17 X2 1991,070 92 PRI 992 IR 37 PR





